AND 6ANADIAN TEACHER.

i side A C is 40, the angle A B Cis 374°.  Find the

B side A B.

_ No. 39,— .
B Proposed by William Johnstun, Watford, Ont.
® Find all the 5th roots of wauty.

No. 40,—
e  Proposed by Duncan McEachran, Ashgrove, Ont.
¥ The elevation of & gun s 30° 10, with what impe-
R tus must a ball be discharged in order to strike an
ject situated on an ob iq‘uc plane, 1ts angle of
g Rclivity being 12° 45, and the distance of the
[} dbject 3256 fect.

& No, 41,—

E  Proposed by A. S. McGregor, Avonbank, Ont.
8 The price of wheat 15 31 20 per bushel; a compo-
g sition of wheat and oats measurmng 11 bushels is |
8 worth $8 90, but 1f the proportions of wheat and !
R oats were interchanyged, 1t would be worth only!
B $S 0. Find the number of bushels of wheat in

\

¥ the composition, and the price of oats per bushel. |
B Oy Arithmetic.

The following paper of 10 uestions bas been
l seut us by J. G, Hands, Principal of Training De-
@ partment Jones’ Commercial College, London, Ont.
B We consider it well got up, and will afford a splen-
B id exercisc in arithmetic for those for whom it is
intended :
B Triap ExaMINatioN PAPER 1N ARITHMETIC FOR
3 SecoND Crass TEACHERS.— Tiite three heurs ).—
8 Any teacher using the following as a fest, is
recommended to study the conditions of the yues.
§ tions, and the principles involved, for two hours
before commencing the solutions. The amount of
R paper work necessary, can be easily performed in
the remaining hour.
J. G. Haxps.

1st. The interest on acertain sum, for 2% years at
g 7 per cent., is 85 $73.  What is the true discount
g on the same sum for the same time at the same rate ?

2nd. A merchant bought a certain numbe of
yards of cloth at 52 50 per yard. Hesold cwo-
fifths of the cloth at a profit of 23 per cent., and on
the sale of the remainder he lost 315, If his loss
on the whole transaction amounted to 5 per cent.,
how many yards of cloth did he buy ?

for which they wie paid 816 50. ‘he ratio of \'s
work t6¢ B's 1s as 3 2, and of Us work to D's as
5:3. If B alone could do the work in 11 days,
what should C be pail ¥

4th. A merchant buys a parcel of cotton goods
for 85,000 anl solls half of them at 15 per cent.
‘profit.  As i< 1ate dues not satisfy him, he raises
the price from 13c. to 174¢. per yard and sells the
remainder. Find his total profit.

3th. Xinvast 23,600 in woollen goods and sell 30
per cent. of then: at o protit of 16 per cent.  If
1,000 worth are desteoyed by tire, and insured at

cost price, at what percentage must 1 sell the
remainder to make an average profit of 16 per cent

6th. Two trains start simultancously from Lon-

don and another station east of it. If started to
ward each other they will meet in two hours; if
both run east the London train will overtake the
other in five hours. Supposing the faster train to
vun 28 niles per hour, how far 1s the other station
situated cast of London?

7th. If a hogshead contain wine and water in
the ratio of 3 to 2, how much must be drawn off
and water substituted that the wine and water may
Le iu equal proportions ?

8. Prove this rale of Commercial Anthmetic =
Assume the interest at 6 per cent. for 60 days to be
as many cents as there are dollars in the principal 3
then e leulate interest at the given time and rate
by Simple Proportion.

Oth. .\ room, the height of which is 11 feet, and
the length twice the Dreadth, takes 143 yards of
paper two ,&w:t wide to cover its walls, dvor and
wmdow ~pade included.  How many yards of car-
pet 27 mches wide will be required for the tloor?

10th. In arectangular cistern the length is twelve

I feet, the wilth 8 v 5 feet, and the Jiagoual (through

the centre of the rectangular space) is 15 feet.
Find the weight of water 1t will contain if a cubic
foot of water weighs §94 v 5 ounces.

Answers to Corrcspondents.

A.1D., Toronto, Ont.—Wewill give the answers
of the First-class Arithmetical Question, last ex-
“amnation. in our next number.

W 0 —We will endeavor to give cne yuestion
on Trigonometry every month.

J. Sullivan.—No is sometimes an adjective;
when placed before a noun it 13 an adjective, and
is an abbreviation of ‘‘none,” as, No man.

Grammarian, —This correspondent wishes us to
parse the italicised words in the following sen-
tence : ¢ I sailed ncarly round the world,” Nearly
is an adverb modifying ‘‘round the world” ; round
is a4 preposition, followed by ““world” in obj.; re-
lIation—world and sailed.

Thos. Hammond, Selkirk, Ont., requests us to
parse the italicised words in the fol'owing : 1st,
*1f I could survive this wound, I would engage to
beat three fimes the number I commanded this
morning with a third of British {roops, &c.” 2nd,

; ; . . “ Alas ! decay and the still more remorseless white
3rd. A, Band Cdoa piece of work in two days ' Alas ! decay and the 1

ants frustrated my murderous intentions, and e
hut left me a rictim to my strange and active foe.”
Three times the wumber might be regarded as one
word (the same as an established 1diom), objective
after (o beat : also, athird (as one word), ebjective
after with ; all bat, an adverb modifying left ; vietim,
a noun in opposition with juc, or after Lo be (under-
stood).  Or, times, a noun governed by beat, and
numbcr, a noun governed by the preposition ““of
(understood) ; «, an adjective(numeral) qualifying
“tlurd; " third, a noun governed by the preposition
with: all, an adverb modifying ““ but; " but, an ad-
verb modiiving ““left.”” The word all but seems
too to have a connection with wictim.  We wounld
like to have the views of some of our teachersand
inspectors on parsing the above. Please let us
hear from youin time for next number.

Teacher.—We know of no law in Canada de-




